DATASHEET rev. 00 - 30/06/2023

Screw for fixing HSC-HSL 40/60
brackets for HCDB/HPCB slider

- cod. 11110872 - cod. 11110872B0OX - cod. 11110873

- cod. 11110873BOX - cod. 11110874 - cod. 11110874B0OX
- cod. 11110875 - cod. 11110875B0OX - cod. 11110876

- cod. 11110876BOX - cod. 11110877 - cod. 11110877BOX
- cod. 11110878 - cod. 11110878BOX - cod. 11110870

- cod. 11110870BOX

TECHNICAL SPECIFICATIONS:

» Material: M8 stainless steel
= Screw tightening with hex key 6
» Slider is not supplied

All rights relating to this publication are the exclusive property of Tecnosystemi SpA. Tecnosystemi SpA reserves the right to make changes at any time and without notice, for technical or commercial needs.

Tecnosystemi S.p.A. - Societa Benefit | www.tecnosystemi.com
Via dell'lndustria, 2/4 - Z.I. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy

POWER 4, 23 Tecnosystemi
Phone +39 0438500 044 | Fax +39 0438501 516 | n. verde 800 904474 (only for Italy) Photoe!

voltaic
Fixing Eements




DATASHEET

CODE BRACKET "HSC' BRACKET "HsL"

11110872 PANELS 30-32-34

1111087280X PANELS 30-32-34

11110873 PANELS 30-32-34 PANELS 35-36-38
1111087380K PANELS 30-32-34 PANELS 35-36-38 %
11110874 PANELS 35-36-38 PANELS 40-42-44 s
1111087480X PANELS 35-36-38 PANELS 40-42-44 E
11110875 PANELS 40-42-44 PANELS 45-46-48 5
1111087580X PANELS 40-42-44 PANELS 45-46-48 %
11110876 PANELS 45-46 PANEL 50 5
11110876B0X PANELS 45-46 PANEL 50 £
11110877 PANELS 48-50 PANEL 56 :
1111087780X PANELS 48-50 PANEL 56 é
11110878 PANEL 56 E
1111087880X PANEL 56 5
CODE CLAMPS &
11110870 HIMC - HMIL i
11110870B0X HIMC - HMIL 5
B
ITEMS
CODE DESCRIPTION g
11110872 SCREW TCEI M8x30 g
1111087280X SCREW TCEI M8x30 - BOX 100 pcs z
11110873 SCREW TCEI M8x35 8
1111087380X SCREW TCEI M8x35 - BOX 100 pes Z‘*‘
11110874 SCREW TCEI M8x40 g
11110874B0X SCREW TCEI M8x40 - BOX 100 pcs §
11110875 SCREW TCEI Mexs5 Z
11110875B0X SCREW TCEI M8x45 - BOX 100 pcs g
11110876 SCREW TCEI M8x50 g
11110876B0X SCREW TCEI M8x50 - BOX 100 pcs E
11110877 SCREW TCEI M8x55 %
11110877B0X SCREW TCEI M8x55 - BOX 100 pes &
11110878 SCREW TCEI M8x60 2
11110878B0X SCREW TCEI M8x60 - BOX 100 pcs E
11110870 SCREW TCEI M8x20 %O
11110870B0X SCREW TCEI M8x20 - BOX 100 pcs s
<

All rights relating to this publication are the exclusive property of Tecnosystemi SpA.

Tecnosystemi SpA reserves the right to make changes at any time and without notice, for technical or commercial needs.

Tecnosystemi S.p.A. - Societa Benefit | www.tecnosystemi.com
Via dell'lndustria, 2/4 - Z.I. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy POWER 4 1S | Tecnosystegmj'
Phone +39 0438500 044 | Fax +39 0438501 516 | n. verde 800 904474 (only for Italy) -


http://www.tcpdf.org

